#### **COUNCIL ACTION SHEET**

То:	The Mayor and Members of City Council	
From:	Mouhamad Zaher, Public Works Director	
Date:	August 7, 2024	City of St. Helens
Subject:	2024 Annual Pavement Striping Project	· Oregon ·

#### **BACKGROUND**

The City of St. Helens annually restripes the centerline, fog lines, and bike lanes on roadways to maintain reflectivity and visibility. This work requires specialized equipment and materials that the City does not own. The required work is contracted out on an annual basis based on competitive quotes from qualified contractors.

Quotes were requested from multiple qualified contracting firms on June 25, 2024. Quotes were due by 3:00 p.m., July 16, 2024.

The following quotes were received as follows:

FIRM	LOCATION	BID
Specialized Pavement Marking, LLC	Tualatin, OR	\$61,430.00
Hicks Striping & Curbing, LLC	Brooks, OR	\$51,122.00

The project will be funded through the Street Fund budget.

#### **STAFF RECOMMENDATION**

Award the contract for the 2024 Annual Pavement Striping Project, No. R-719 to Hicks Striping & Curbing, LLC and authorize the City Administrator to execute a Construction Contract for project. The contract will be for the amount specified in the firm's bid, plus standard contingency.

#### **ATTACHMENTS**

- Bid Tabulation Sheet
- Specialized Pavement Marking quote
- Hicks Striping and Curbing quote
- 2024 pavement striping map



#### **BID TABULATION**

PROJECT: 2024 ANNUAL STRIPING

**PROJECT NO:** <u>R-719</u>

**BID OPENING DATE:** <u>7/16/2024, 3:00 PM</u>

DEPARTMENT OF 265 Phone: 503

ITEM No.

1) 2)

DF PUBLIC WORKS – ENGINEERING DIVISION 55 Strand Street, St. Helens, 0R 97051 03.397.6272 Web: www.sthelensoregon.gov				O PAVEMENT NG, LLC.	HICKS STRIPING & CURBING, LLC.		
DESCRIPTION	UNIT	QUANTITY	UNIT PRICE #1	TOTAL PRICE #1	UNIT PRICE #2	TOTAL PRICE #2	
" YELLOW STRIPING	FOOT	93200	\$0.25	\$23,300.00	\$0.22	\$20,504.00	
" WHITE STRIPING	FOOT	57200	\$0.40	\$22,880.00	\$0.29	\$16,588.00	
" WHITE STRIPING	FOOT	61000	\$0.25	\$15,250.00	\$0.23	\$14,030.00	
		BID TOTALS		\$61,430.00		\$51,122.00	

\*Hicks Striping & Curbing, LLC. has the lowest of the bid at \$51,122.00

# City of St. Helens

#### PROPOSAL FORM R-719

## 2024 ANNUAL STRIPING PROJECT Submittal Deadline: 3:00 p.m. July 16<sup>th</sup>, 2024

#### **BID SCHEDULE**

Item No.	Description	Estimated Quantity	Unit of Measure	Unit Price	Total Price
1)	4" Yellow Striping	93,200	Linear Feet	\$ 0.25	\$ 23,300.00
2)	8" White Striping	57,200	Linear Feet	\$ 0.40	\$ 22,880.00
3)	4" White Striping	61,000	Linear Feet	\$ 0.25	\$ 15,250.00
				Total Bid	\$ 61,430.00

Paint and reflectivity must conform to all current Federal Highway Administration, Oregon Department of Transportation, current version of the Oregon Standard Specifications for Construction including all revisions at date of bid submittal, City of St. Helens, and other applicable Federal, State, and Local standards.

Respectfully submitted: Specialized Pavement Marking, LLC

Name of Firm

11095 SW Industrial Way
Address

Mark Price, President
Print Name & Title

7/15/2024
Date

503-885-0420
Phone Number

If the bidder is a co-partnership, state giving firm name under which business is transacted.

If the bidder is a corporation, this proposal must be executed by its duly authorized officials.

If no bid is submitted, kindly mark "NO BID" and return to the Project Manager, <a href="mailto:abird@sthelensoregon.gov">abird@sthelensoregon.gov</a> (503) 366-8223 or by mail to City of St. Helens, City Hall, 265 Strand Street, St. Helens, OR 97051



### PROPOSAL FORM

## 2024 ANNUAL STRIPING PROJECT Submittal Deadline: 3:00 p.m. July 16<sup>th</sup>, 2024

#### **BID SCHEDULE**

Item No.	Description	Estimated Quantity	Unit of Measure	Unit Price	Total Price
1)	4" Yellow Striping	93,200	Linear Feet		\$ 20,504.00
2)	8" White Striping	57,200	Linear Feet	\$ 0.29	\$ 14,588.00
3)	4" White Striping	61,000	Linear Feet	\$ 6.23	\$ 14,030.00
				Total Bid \$	51,122.00

Paint and reflectivity must conform to all current Federal Highway Administration, Oregon Department of Transportation, current version of the Oregon Standard Specifications for Construction including all revisions at date of bid submittal, City of St. Helens, and other applicable Federal, State, and Local standards.

Respectfully submitted: Hicks Stripin	Name of Firm
Signature Signature	Po Boy 9127 Address
Fra Simeral - General Manager Print Name & Title	Address Brooks, op 97305
7/16/24 Date	503-364-4577 Phone Number

If the bidder is a co-partnership, state giving firm name under which business is transacted.

If the bidder is a corporation, this proposal must be executed by its duly authorized officials.

If no bid is submitted, kindly mark "NO BID" and return to the Project Manager, <a href="mailto:abird@sthelensoregon.gov">abird@sthelensoregon.gov</a> (503) 366-8223 or by mail to City of St. Helens, City Hall, 265 Strand Street, St. Helens, OR 97051

